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Adding two single-digit numbers - sum 11 or less
The number of all possible questions is equal to 79
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0 + 8 =
10 + 0 =
|0+7=
0 + 0 =
0 +#RODM =
0 + 5 =
|7+1=
5 +5 = |
2 * f =
6 + 3 =
b + 0 =
4 + Q =
2 + 9 =
3 + 3 =
| 1 + 0 =
7 + 3 =
4. # 2 =
1 + 3 =
3 + 6 =
6 + 2 =
0 + 2 =
2 * § =
2 + 2 =
8 + 3 =
1 + 10 =
8 + 0 =
8 * 2 =
5 + 1 =
10 + 1 =
7 + 4 =
11 + 0 =
2 * 1 =
2 + 3 =
4 + 4 =
4 + 5 =
2 + 0 =
4 + 1 =
1 + 5 =
1 + 2 =
1 + 6 =
3 ] =
3 + 4 =
0 + 9 =
1 + 8 =
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Adding two single-digit numbers - sum 11 or less
The number of all possible questions is equal to 79

The answer.
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1 + 8
S
4 + 3
1
3 + 8
1
9+0=29
1 + 7
5 +4 =9
6 + 1 =
| 0 +1=1
0 + 6 =
1 +1 =2
9 + 2 =11
0+ 3 =23
2 +7 =19
9 +1 =10
3 +0=23
0 +4=4
8 +1 =29
2 +8 =10
5 +6 =11
9 &2 =0
5 + 2 =17
7+ 0=7
1 +9 =10
4 + 6 = 10
6 + 4 = 10
5 +3 =28
6 + 5 =11 |
|3+1=4
0 + 10 = 10
9 D=5
I+ 2 =9
0 +8 =28
10 + 0 = 10
it YAl
0+0=20 |
0+ 11 = 11
0 +5 =25
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(& B = 8
10 + 0 = 10

0+ 7 =7
0 +0=20

0 + 11 = 11
0 +5 =275

.7 + 1 =28
5 + 5 =10 |

2 + 6 =8
6 + 3 =9

6 + 0 =6
4 + 0 = 4

2 &9 =711
3 +3 =6

1 +0=1
7 + 3 =10

4 + 2 =6
1 + 3 =4

3 +6 =29
6 + 2 = 8

) == e 7= o2
2 + 3 =17

2 + 2 =4
8 + 3 =11

1 + 10 = 11
 + 0 =8

8 + 2 =10
3 +1 =26

10 + 1 = 11
7 + 4 = 11

11 + 0 = 11
2 +1 =3

2 TS =D
4 + 4 = 8

4 + 5 =9
2 + 0 =2

4 + 1 =5
1 + 5 =6

1T & 4= 3
1 + 6 =7

3 + 7 =10
3 +4 =7

J +9 =9
1 +8 =29
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